uciaHU_LZnH4T 1

AIPNALS_4EALA

alphal3_4eX1X:cyclenum {run == 8488}
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I
5
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ool bl o b b bl
117881783.517841784.917851785.517861786.51787

cyclenum

deltad46_12X4eY:cyclenum {run == 8488}

0.05

0.03

0.02

0.01

177881783.5:

211784.977851785.517361786.51787

cyclenum

0.25

AIPNA4O_4e Y 4d Y

0.2

0.15

0.1

0.05

o

8490

3489.5

8489

3488.5

8488

3487.5

8487

3486.5

8486

alpha46_4eY4aY:cyclenum {run == 8488}

1Y78B1783.517341784.817851785.5Y/861786.51787
cyclenum
run:cyclenum {run == 8488}

1178B1783.517841784.817851785.517861786.51787
cyclenum

deltal3_lzx4ex

o
o

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 8488}

ol b b b b b e bes
117881783.517841784.917851785.517861786.51787
cyclenum

segment:cyclenum {run == 8488}

AL L |
v
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e
- ......*...............;....... [

117881783.517841784.917851785.517861786.51787
cyclenum



USI_1A

usi_4ey

usl_1X:cyclenum {run == 8488}
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1
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bbb b bevs b bie b
1178B1783.517841784.817851785.517861786.51787
cyclenum

usl_4eY:cyclenum {run == 8488}

1178B1783.517841784.817851785.517861786.51787
cyclenum

usl_say

usl_12x

usl_4aY:cyclenum {run == 8488}
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T
H
H

7 SO SR S SN SN S 0 e 1

[ARIFERTE FRRTI AR FRRTE ARRTE RRATL PR AT
1178B1783.517841784.817851785.517861786.51787
cyclenum

usl_12X:cyclenum {run == 8488}

N
T
H
H

1178B1783.517841784.817851785.517861786.51787
cyclenum

usl_sex
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05

8490

3489.5

8489

3488.5

8488

3487.5

8487

3486.5

8486

usl_4eX:cyclenum {run == 8488}

ol b b b b b e bes
117881783.517841784.917851785.517861786.51787
cyclenum

run:cyclenum {run == 8488}

117881783.517841784.917851785.517861786.51787
cyclenum



USI_L1A

usI_aey

usr_1X:cyclenum {run == 8488}
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1

0.5

bbb b bevs b bie b
1178B1783.517841784.817851785.517861786.51787
cyclenum

usr_4eY:cyclenum {run == 8488}

1178B1783.517841784.817851785.517861786.51787
cyclenum

usr_say

usr_12x

usr_4aY:cyclenum {run == 8488}

-
T
H
H

7 SO SR S SN SN S 0 e 1

[ARIFERTE FRRTI AR FRRTE ARRTE RRATL PR AT
1178B1783.517841784.817851785.517861786.51787
cyclenum

usr_12X:cyclenum {run == 8488}

N
T
H
H

1178B1783.517841784.817851785.517861786.51787
cyclenum

usr_aex
=

05

8490

3489.5

8489

3488.5

8488

3487.5

8487

3486.5

8486

usr_4eX:cyclenum {run == 8488}

... . ..
. .- - .-

ol b b b b b e bes
117881783.517841784.917851785.517861786.51787
cyclenum

run:cyclenum {run == 8488}

117881783.517841784.917851785.517861786.51787
cyclenum



18000

16000

14000

12000

10000

8000

6000

4000

2000

-500

-1000

-1500

—-2000

-2500

-3000

-3500

usl_coill:cyclenum {run == 8488}

1178B1783.51/311784.5. 51785.517861786.5: 7
cyclenum

usl_caoil6:cyclenum {run == 8488}

N S S U LK
FETE FYTRY FRTEY FUTEY PYRTY FETEY FUTEL FOTL T

1178B1783.517841784.817851785.517861786.51787
cyclenum

usl_coil3:cyclenum {run == 8488}

12500 | - -3 :
2000+ ;
10 S RTINS A
1000 -
500 - -r----r Sl
olusnlun oo b o Lo b
177881783.517881784.8 17851785.511361786.51787
cyclenum
usl_coil7:cyclenum {run == 8488}
15000 -
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4600
4400 -
4200
4000 |
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3600 boecbnn bbb i

1178B1783.517841784.817851785.517861786.51787
cyclenum
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3000
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1000
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3489.5

8489

3488.5
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3487.5

8487

3486.5

8486

usl_coil4:cyclenum {run == 8488}

l;tl ’%31783.5178111784.5‘1’ jé51785.517851786.51787

cyclenum

run:cyclenum {run == 8488}

117881783.517841784.917851785.517861786.51787
cyclenum
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-2000

—-4000

-6000

-8000
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12000

14000

16000

-500

-1000

-1500

—-2000

-2500

-3000

usr_coill:cyclenum {run == 8488}

BEEOEES A
FETIRTTRIRRTR] FRRTE RRTI RRR1 ARRTH ARRT] RAAT FAT)

1178B1783.517841784.817851785.517861786.51787
cyclenum

usr_coil6:cyclenum {run == 8488}

Ek P Kk
'ERERERNI FRTN] FRRRE FERTI SRTN1 FRRTE FRRTE SRTR1 FAT)

1178B1783.517841784.817851785.517861786.51787
cyclenum
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—-2000
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34600

34400

34200

34000

33800

usr_coil3:cyclenum {run == 8488}
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1178B1783.517841784.817851785.517861786.51787
cyclenum

usr_coil7:cyclenum {run == 8488}

1178B1783.517841784.817851785.517861786.51787
cyclenum
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8489
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3487.5
8487
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8486

usr_coil4:cyclenum {run == 8488}

81783.517841784.817851785.517861786.51787

cyclenum

run:cyclenum {run == 8488}

117881783.517841784.917851785.517861786.51787
cyclenum
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-100
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1X_coill:cyclenum {run == 8488}
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1178B1783.517841784.817851785.517861786.51787
cyclenum

4eX_coill:cyclenum {run == 8488}

=K
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cyclenum

16

1X_coil3
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1X_coil3:cyclenum {run == 8488}

1;[I Jg31783 ..‘5178111784.517851785.5&I Jgﬁl786.51 ;§7

cyclenum

4eX_coil3:cyclenum {run == 8488}
L ;.: oo >K
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1178B1783.517841784.817851785.517861786.51787
cyclenum
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252
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1X_coil7:cyclenum {run == 8488}
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117881783.517841784.917851785.517861786.51787
cyclenum

4eX_coil7:cyclenum {run == 8488}

117881783.517841784.917851785.517861786.51787
cyclenum




yclenum {run == 8488}

4aY_coil7:c

yclenum {run == 8488}

4aY_coilé:c

yclenum {run == 8488}

4aY_coild:c

117881783.517841784.917851785.517861786.51787

AnnT 104

1100~ At

117881783.5178281784.917851785.517861786.51787

51785.517861786.51787

B1783.517881784.9.
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cyclenum

cyclenum

cyclenum

yclenum {run == 8488}

4eY_coil7:c

yclenum {run == 8488}

4eY_coilé:c

yclenum {run == 8488}

4eY_coild:c

1100~ At

117881783.517841784.917851785.517861786.51787

117881783.517881784.917851785.517861786.51787
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cyclenum
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-100

-150

-200
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12X_coill:cyclenum {run == 8488}
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1178B1783.517841784.817851785.517861786.51787
cyclenum

12X_coil6:cyclenum {run == 8488}

0 JJJJJJJJJJJ—%—“*'—'%“J-‘-“%J-UJ-““J-UJ-
117881783.51/381784.977851785.517361786.51787

cyclenum
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|
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12X_coil3:cyclenum {run == 8488}

1178B1783.517841784.817851785.517861786.51787
cyclenum

12X_coil7:cyclenum {run == 8488}

1178B1783.517841784.817851785.517861786.51787
cyclenum

12X_coil4
a
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-15

8490

3489.5

8489

3488.5
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3487.5
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3486.5
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12X_coil4:cyclenum {run == 8488}

i i L L L i
117881783.517841784.917851785.517861786.51787
cyclenum

run:cyclenum {run == 8488}

117881783.517841784.917851785.517861786.51787
cyclenum
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